Midterm Exam 1
Math 132-06, Fall 2005

You have 50 minutes. No notes, no books, no calculators. You must show all work to
receive credit! Good luck!

Name: gO [M ‘}W‘OVLS

1D #:

1. (/40 points)
2. (/15 points)
3. (/25 points)
4. (/20 points)

Total (/100 points)




1. [40 points] Evaluate the following limits if they exist. If the limit does not exist, explain
why. Justify your answers using the limit laws or facts about continuity.
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2. [15 points| Evaluate 1ingJr v/z cos(1/z), using the Sandwich Theorem.
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3. [25 points] This problem uses the following graph of f(z).

(a) [9 points] Compute limg o~ f(x), img——1+ f (z), and lim,_.; f(z).
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(b) [6 points] At what z-values is f discontinuous?

At x= 7/, 0/ and /.

(c) [10 points] What are the horizontal and vertical asymptotes?
Hoti 2oatal ASympiorts at y=0,y=d.
Vertcal asymvpfovLQ at X=O0.



4. [20 points]

(a) [8 points] State the Intermediate Value Theorem.
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Decide whether each of the following statements is true or false, and explain your reasoning.
You must write out the word “True” or “False” for each one.

(b) [6 points] The function f(z) = = — cos(z) has a root between z = 0 and z = z.
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(c) [6 points] The function g(z) = (T + 2)—;— has a root between z = —1 and z = 1.
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